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The figures in the margin indicate full marks
for the questions

1. Answer the following questions in brief :
1x10=10

were fif eppTRs oY Ted fia :

fa) Name the first Nation-State in Europe.

TR A9 TIS-F59 I 111 1

{b) When was Charles II restored as the
king of England?

S vrefoe (feal Baes T “1el C2fRe ?
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(c)

(d)

(e)

(g)

()

i
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(2)

What do you mean by the term ‘Little
Ice Age’?

“5g 9% ' A S @02
Who was Francis Bacon?

FIFE @@ @ wifeE 2

What was ‘Fronde’?

‘Few' 592

What do you mean by the term
‘Renaissance’?

‘R’ e & e 2

What is ‘Baroque’?
I’ 2
Who used the term ‘Mercantilism’ first?

QTSR =0 @I LN ARG PR 2

In which year was the Sugar Act
passed?

DIR SIS (T B 2Tl 3591 02f2eT 2

{ Continued )

(3)

(i) Who invented the ‘Flying Shuttle’?

v W (A EE R 7

2. Answer the following questions in short :

2x5=10
wor fimt epped o T fi -
(@) What do you mean by the English
Revolution?
2@l Reg (7eg) Wt & @2

(b} Who were the Cavaliers and the Round-
heads?
Cavalier ¥ Roundhead™ e (F14 wifes ?

(¢) Name two great enlightened despots of
18th century Europe.
ypd WMo BOEPR e TRE ww@@
CieR) s AN @

(d) Name two political parties of the English
Parliament in the 18th century.

svw =fee® English Parliaments Ll
e e A for |
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(4) (5)

(e} Mention two commodities produced (e) Catherine II
under the putting-out system. R o

Putting-out (%%-3f%) TEES AR I _
() Peace Treaty of Versailles, 1783

S o1 SeErd T
wi5ieg *fe pfe, savo
4. Answer the following questions : 10x4=40
3. Write short notes on any four of the
following : 5%4=20 oo APl el

oo R I BIRGM @S B (Bl o :

(a) Describe the main factors that led to the
rise of Nation-States in Eurcpe.

(@) Thirty Years’ War (1618-1648) Fae fe-Ag TYER IH FAPFR T

F01
fopt IR & (SudT—>98Y)
7 Or / 941
: : Analyze the economic and social
(b) Sir Walter Raleigh dimensions of the 17th century crisis in
54 T Europe.
s WP FAPA ARH ALATT oF
STfes AR JFomET 9

(c) The Long Parliament
(b} Discuss the religious policy of the
e AT Stuart rulers. How did it contribute to
the outbreak of the English Civil War?

3Eed Stuart TEPIFEN ¥Ty Afes [Ea

e | B T P (RS 4R
SEERME &N Sors @R TA8E CIeRiRE 7

(d) Concept of Imperialism
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(c)

(d)

A23/864

(6)

Or / &=

“Reign of James I is called one of long
quarrel between the King and the
Parliament.” Elaborate.

“Reign of James I is called one of
long quarrel between the King and

the Parliament.’’ IZa(3 foy<1 |

What is the Scientific Revolution?
Describe the main reasons behind the
revolution in Europe during the 16th
and 17th centuries.

REfF Rer T F2 o 9F > 9% 4o
WeArre wEfoe |l @ Red o FEEHR
3efel 3#470 1

Or / 9]

Analyze the causes of the American War
of Independence. What were its results?
GRARTE IR ToE FROFR A A
TR FeEernE R ik 2

Discuss the putting-out system. What
were its merits and demerits?
Putting-out (%%-5{&) systemd oMb
9 | TR TR SF SFREE & wifEe 2

{ Continued )
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(7)

Or / =91

Discuss the main causes of the
Industrial Revolution.
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